File Properties Sub Test MR Calculations Sub Test | Calculations
MR Chart for A | Chart for A

Sub Test Cycle # Start Time End Time Run Time (s) Moving Range Avg Range LCL ucL Process Avg Avg Process Av¢ LCL ucL
1 0 846.1 846.1 0 506.3 0 1303.2162 846.1 619.3666667  -277.7969333 1516530267 ~ == MovingRange == AvgRange LoL = uct = ProcessAvg == Avg Process Avg Lot
2 863.9 919 55.1 791 506.3 0 1303.2162 450.6 619.3666667 -277.7969333  1516.530267 @ 1500 = uer
A 3 920 1703 783 727.9 506.3 0 1303.2162 561.4 619.3666667 -277.7969333  1516.530267 & 1000 3 1500
5 s
S 500 Z 500
s s
3 0 £ 500
@ 10 15 20 25 30 @ 1 15 20 25 30
Cycle Number Cycle Number
Sub Test Cycle # Start Time End Time Run Time (s) Moving Range Avg Range LCL ucL Process Avg \vg Process Av¢ LCL ucL MR Chart for B | Chart for B
1 0 846.1 846.1 0 496.7666667 0 1278.6774 846.1 615.3888880  -264.8816444  1495.659422 artior artior
2 863.3 916.8 53.5 792.6 496.7666667 0 1278.6774 449.8 615.3888880  -264.8816444 1495650422 ~ ~ MovingRange == AvgRange LcL = ucL = ProcessAvg = Avg Process Avg LeL
B 3 916.9 1668.1 751.2 697.7 496.7666667 0 1278.6774 550.2666667  615.3888880  -264.8816444 1495650422 @ 1500 = et
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1 0 0 o o o o o o o MR Chart for C | Chart for C
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL = UCL = ProcessAvg == Avg Process Avg LcL
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1 0 ) o o o o o o o MR Chart for D | Chart for D
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL = ucCL = ProcessAvg = Avg Process Avg LoL
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1 0 0 o o o o o o o MR Chart for E | Chart for E
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL == UCL = ProcessAvg == Avg Process Avg LcL
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1 0 ) o o o o o o o MR Chart for F | Chart for F
2 0 0 0 0 0 0 0 0 0 = Moving Range == Avg Range LCL = ucCL = ProcessAvg = Avg Process Avg LoL
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